
Changes have been made to the crankcase and mounting hardware to better support the weight of direct-drive hydraulic bell housings.  
This affects all 25 and 28 frame plunger pumps with date codes/serial numbers after August 2020.

Improvements: 
•  Crankcase bell housing mounting bolt holes number increased from four (4) to eight (8) 
	 to better distribute weight of hydraulic motor on crankcase.
•  Bell housing mounting bolt quantity changed from four (4) M8 to eight (8) M8 bolts. 

Functionality Changes:
•  Crankcase has eight (8) tapped holes on each side for hydraulic bell house mounting.
•  Bearing cover has eight (8) through holes, but only supplied with four (4) M8 bolts. 
•  No change to the shaft protector.

Bolt hole changes to crankcase and bearing covers for all 25 and 28 	
Frame plunger and piston pumps

TECH BULLETIN 135

1681-94th Lane N.E., Minneapolis, MN 55449-4324  •  Ph: (763) 780-5440  •  FAX: (763) 780-2958  •  e-mail: techsupport@catpumps.com

Cat Pumps
Technical Services Department 99TCH135 Rev B  1/21

Crankcase (PN 49528)

4 Tapped  Holes (M8)

Bearing

Crankshaft

Oil Seal
O-Ring

M9 Hole

Bearing Cover (PN 49533)

4X M8 x 25 Screws
(PN 126544 – STCP R)
(PN 125753 – S)

Crankcase (PN 133609)

8 Tapped Holes (M8)
Bearing 

Crankshaft
Oil Seal

O-Ring

Bearing Cover (PN 134966)
(PN 670012 for hydraulic 
Bell Housing)

M9 Hole

4X M8 x 25 Screws
(PN 126544 – STCP R)
(PN 125753 – S)

Old Crankcase Style

New Crankcase Style


